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B | & H=EICEAE R SR =Bt ihEs
"B Ol 1AB7=Y Ol B ~Zm | 2R | cZR | DzA | E2R
| EELYay 150 (30) 16 (77.3%)| 22| 30| 18| 22| 24
(1) 1= 51 B AR B 8] 50 (10) 40 (80.0%)| 8| 10 6 8 8
(2) RO, RER OB I RSB 50 (10) 40 (80.0%)| 8| 10 6 8 8
(3) AuffEzzL DM 50 (10) 36 (72.0%)| 6| 10 6 6 8
2 EHAORE 100 (20) 64 (64.0%)| 12| 14| 12| 12| 14
(1) EAOE A, BAH RO H g 50 (10) 36 (72.0%)| 6| 10 6 6 8
(2) BRI 50 (10) 28 (56.0%)| 6 4 6 6 6
3 MERE B 100 (20) 74 (74.0%)| 12| 16| 16| 16| 14
(1) BEOWERVRE 50 (10) 36 (72.0%)| 6 8 8 8 6
(2) B THE 50 (10) 38 (76.0%)| 6 8 8 8 8
4 HEROETEY 325 (65) 243 (74.8%)| 39| 52| 46| 54| 52
(1) Mgk RO RREOMRFE 2. BE R U/MHEROEUE 50 (10) 36 (72.0%) 6 8 6 8 8
(2) SATARED L], BAROHIS 50 (10) 38 (76.0%)| 6 8 8 8 8
(3) BSR4 B ENE 50 (10) 40 (80.0%)| 6 8 s| 10 8
(4) ATE- IO 50 (10) 36 (72.0%)| 6 8 6 8 8
(5) % D=— X, BERVEHEORIS 50 (10) 36 (72.0%)| 6 8 8 6 8
(6) EANBHREAE, FRAFM. AMEEEDEE 50 (10) 38 (76.0%) 6 8 6 10 8
(7) B DR, e GBI AT O RS 25 | (5 I ESON B ., ., " ;
5 400  (80) 314 (785%)| 54| 64| 60| 64| 72
(1) HERRODHRAL 100 (20) 78 (78.0%) 14| 16| 16| 16| 16
7 FIFEIAE OB DM X8 50 (10) 40 (80.0%)| 8 8 8 8 8
1 fERORFEEE 50 (10) 38 (76.0%)| 6 8 8 8 8
(2) RSV 77T 5% 200 (40) 164 (82.0%)| 28| 32| 32| 32| 40
7 RSV TI BT SR, S RO E R 50 (10) 42 (84.0%)| 8 8 8 s| 10
1 RTVTATI T B RO MR 50 (10) 42 (84.0%)| 8 8 8 g| 10
Y RSV TIC BT B A 50 (10) 40 (80.0%)| 6 8 8 s| 10
T RIVTATOER- KB 50 (10) 40 (80.0%)| 6 8 8 s| 10
(3) AR D3 NI —2 100 (20) 72 (720%)| 12| 16| 12| 16| 16
7 R R MO e D 50 (10) 36 (72.0%)| 6 8 6 8 8
1t EAFBREOTHE 50 (10) 36 (72.0%)| 6 8 6 8 8
6 I FHER O T 75 (15) 50 (66.7%)| 9 8 ol 12| 12
(1) e BRI O R O OS5 U B RS 50 (10) 32 (64.0%)| 6 4 6 8 8
(2) MEE B 25 (5) 18 (72.0%)| 3 4 3 4 4
EBTEDBE(1~6) 1,150 (230) 861 (74.9%)| 148| 184| 161| 180| 188
[7 ATMEEBRZREZ ZINEEEOEE
R 690 B AR HO A - B o BE S
SHEZEHERU TELELZREHD60%
BERIREE AT 585 861 KRBTSR R SRess R e
BROWERROGE
7 RTHEEHEE AT 2 A DB 50 (10) 30 (60.0%)| 6 6 6 6 6
(1) BEEERENEEERAR B2 1A 20 (4) 20  (100.0%) 4 4 4 4 4
(2) D=1 TNV ARV BLZHESEDHE - - - - - - - - -
T ORHRE R B D} — R TR E O 10 @ 0 0% o 0 0 0 0
1 AROREEEC B RAOIET SR £ I PN R S 5 5 5
NS AR EDRE
8 HHIDIEEEEEEOEMR 50 -10~10 28 (56.0%)| 5 5 5 5 8
& #(1~8) 1,250 (250) 919 (73.5%)| 159| 195| 172| 191| 202




